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1. In Australia, the start of spring in September every year.

a. is celebrating b. is being celebrated
c. 1s celebrated d. was celebrated

2. It is dangerous to walk in that road because there is no ...

a. traffic b. ground c. pavement d. car
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swim too far from your boat when you go diving.

a) shouldn't b) should ¢) haven't d) aren't

4. 1 would like to eat eggs for breakfast.

a. boil b. boiling c. boiled d. boils
5. Sara's family enjoyed their holiday in Alex and they want to again.
a. go back b. go forward c. go off d. goin

6. She got a for winning the sports competition.

a. present b. model c. medal d. price
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